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1. Choose the correct answer from the
following : 1x6=6

TS fAART o[ v Tewehl AR it ¢
(a) Microeconomics is related with
@R w@ wfe iz A
(i) small unit
BY (B NS
(i) large unit
TR (6F F9IS
(iii) medium unit
TN (MBI TS
(iv) None of the above
@Y OIS T
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(2)

(b) If TC = TFC + TVC, then AC=
It TC = TFC + TVC =, (%8 AC =

) TC/Q ,
(i) AFC + AVC
(iii) AFC/Q

(iv) None of the above
@Y IS T

(¢) TR is maximum when MR is

¥ Wm (TR) 7w
(MR) |, & ﬁ]f%qs' -

(i) zero
L]

(ii) one

< =

(i) ten

™=

(iv) None of the above
FY «Io1S Ty
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(3)

(d) The problem of ‘scarcity and choice’
mainly gives rise to

‘TR WF A APHE, ALE B I
(i) problems of underdevelopment
SefRA=g A
(ii) economic problems
AT A
(iii) non-ccoﬁomic problems
w-SAfeF T
(iv) None of the above
@AY «o18 T
(e) Fixed cost is found
R T M IW
(i) in the long-run
TS
(i) in the short-run
IS
(iij) both in long-run and short-run

z7 e NI

(iv) None of the above
@Y GBS T
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(4)

(7 Who wrote An Inguiry into the Nature and

2. Answer the following questions :

Causes of the Wealth of Nation?
An Inquiry into the Nature and Causes
of the Wealth of Nation ol fofRfRet 2
(i) Robbins
R=
(i) Marshall
Rl
(iii) Adam Smith
s oy
(iv) All of them
8} IR

2x5=10

O PR T f

(a) Distinguish between stable

(b)

(c)

unstable equilibrium, and

IR = T SeTeR e el v |
Two indifference curves
other. Why?

1 R 1 R R cew i )

do not cut each

Write briefly law of demand’
TRARR 4 9w oy |
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(5)

(d) What is production possibility curve?
TeoT A =1 2

(e) Distinguish between dependent variable
and independent variable.

e voe I TOF bR TS N e
4

3. Answer any six of the following : 5%6=30
oo opArRE R R e worR Tee fan

(a) Write price effect and substitution
effect.
w1 R o s Rere B

(b) Explain with diagram fixed cost and
variable cost.
g q wE ofReee 39 e T=Ee
F91 '

(c) State the properties of isoquant with
diagram.
-BeomeR ARBIAR B TS 3dq 4|

(d) Distinguish between cardinal utility and
ordinal utility.
TRYRGT Toaiiel e TR SR
TES “NefE e 340 |
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(6)

(e) Explain with dj
*plain agram the
diminishing marginal utility ot
. .
mwmw 'ﬁr@ar TR AR e sepe
() What is Giffen paradox?
PieFR oz R o

(9) Write the relation between TR and MR
TR 9F MR T W1&r® o sy | |

(h) Explain priva
te cost .
production. St and social cost of

Seo fSare
W™
= SIF TEE 3w

() Discuss con
cons )
umer’s surplus.

CPRSIET S8 e 4 |

(@) Discuss the
Properti . .
curve with diagral)xnl:ues of indifference

WWWWNRWWWW|

(b) Explain the c
oncept of mone

cost, sunk cost, oppo 1€y cost, real

total cost. rtunity cost and

T W, 27 W, fufwe
T T AN W T, T I
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(7))

(c) Write the application and limitations of
consumer’s surplus.
ST BT AAICHR IR OF Tt
forn :

5. Answer any one of the following : 14

wmwﬁmmwm:

(a) Di
proportion
AT e RREE - D LI
wa ¥4 1

(p) How ‘scarcity and choice’ creates

economic problems? Explain.

mwm’mu«qﬁww
8 7 IRM T
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